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            (PART I) 
BOOKLET CODE QUESTION BOOKLET SERIES   

    

Please fill in your Roll No.  

 

NOTE : Confirm that the 1st and 2nd digits of your Roll No. are               . If not, bring it to the notice of the invigilator. 
 

Name of candidate : ____________________________________Signature of the candidate:_____________ 

Part Pattern Question 

Nos. 

Marks per 

Question 

Marking of Answers Exam Duration 

I Objective 

Type-Multiple 

Choice 

Questions 

1 to 24 0.5 Answers of these questions are to be marked 

only on the OMR Answer Sheet which is 

provided separately, using Black/Blue ball 

point pen. 

3 hours 

25 to 47 1.0 

48 to 49 1.5 

50 to 62 2.0 

63 to 64 3.0 

  

II Subjective 

Type 

65 10.0 Answers of these questions are to be given in 

the space provided below each question on 

the Question-cum-Answer Booklet only. 
66 14.0 

67 6.0 

INSTRUCTIONS FOR CANDIDATES 

1. Please do not open this Question Booklet (Part I) until asked to do so. 

2. Fill up the necessary information in the space provided on the cover of this Question Booklet (Part I), OMR Answer 

Sheet and Question-cum-Answer Booklet Part II before commencement of the test. 

3. The total duration of this test (Part 1 & Part II) is 3 hours. There are 64 questions in Part I and 3 questions in Part II. 

4. The Test (Part I & Part II) is of total 100 marks.  

5. There is No Negative Marking. 

6. You may attempt the questions in any order you prefer. 

7. Please check for the completeness of the Question Booklet (Part I) & Question-cum-Answer booklet (Part II) 

immediately after opening. 

8. Q.Nos.1 to 64 are objective type questions and answers of these objective type questions are to be marked on 

OMR Answer sheet provided separately. 

8.1.  Each question has four options marked (A) (B) (C) and (D). 

8.2. Choose the correct option and fill the oval completely with a Blue or Black Ball Point Pen only against the relevant 

question number. 

8.3. Use only Blue or Black Ball Point Pen to darken the oval for answering. 

8.4. Do not darken more than one oval against any question. No marks will be given for such responses. 

9. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be provided/used for rough 

work. 

10. Calculator, Mobile or any Electronic Gadgets, etc., are not permitted inside the examination hall. 

11. Candidates seeking, receiving and/or giving assistance during the test will be disqualified. 

12. Appropriate civil/criminal proceedings will be instituted against the candidates taking or attempting to take this 

Question Booklet or part of it outside the examination hall. 

13. The right to exclude any question(s) from final evaluation rests with the Examining authority. 

QUESTION BOOKLET (PART I), OMR ANSWER SHEET AND QUESTION-CUM-ANSWER 

BOOKLET (PART II) ARE TO BE RETURNED ON COMPLETION OF THE EXAM. 
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PART-I 
Questions 1 to 64 are multiple choice questions. The correct answer must be marked in the 

OMR answer sheet provided separately. Do not write your name anywhere in the booklet. This 

will lead to disqualification. 
 

Directions (Question Nos. 1 to 24): Each question carries 0.5 marks. Please read the question 

carefully and select your response from the options provided. 
 

Q1. Which one of the pairs given below is correctly matched? 

 (A) Harappan civilisation: Painted greyware 

 (B) The Mughals: Ajanta painting 

 (C) The Kushans: Gandhara school of art 

 (D) The Marathas: Pahari School of Painting 
 

Q2. Among the options given, in which of the following languages are the sacred scriptures of 

Buddhism written in? 

 (A) Prakrit   (B) Pali  

 (C) Hebrew   (D) None of these 
 

Q3. Kanyakumari, the tip of India is located towards which of the following? 

 (A) North of Tropic of Cancer (B) South of the Equator 

 (C) South of the Capricorn (D) North of the Equator 
 

Q4. Who won for India a silver medal in the Rio Olympics and in which sport? 

 (A) Sakshi Malik (Wrestling) (B) P V Sindhu (Badminton) 

 (C) Sania Mirza (Tennis) (D) Sakshi Malik (Badminton) 
 

Q5. The state of Emergency in India was of 21 months duration. When did this happen? 

 (A) 1975-1977   (B) 1973-1975  

 (C) 1977-1979   (D) None of these 
 

Q6. Choose the correct set of colours from given choices for the given Indian traffic sign. 

 (A) Red, Black, Green 

 (B) Red, Blue, Green  

 (C) Red, Black, White 

 (D) Red, Black, Blue 
 

Q7. Match the following Materials with their respective Processes. 

 Materials  Processes  

 M1- Textile P1- Blowing 

 M2- Stone P2- Carving 

 M3- Metal P3- Weaving 

 M4- Glass  P4- Casting  
 

(A) M1- P3, M2- P2, M3- P4, M4- P1 

(B) M1- P2, M2- P3, M3- P4, M4- P1 

(C) M1- P3, M2- P1, M3- P4, M4- P2 

(D) M1- P4, M2- P2, M3- P3, M4- P1 
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Q17. On which mechanism Paper Punching machine works? 

 (A) Gear mechanism (B) Rack and Pinion mechanism 

 (C) Spring mechanism (D) Four bar Mechanism 

 

Q18. The essential condition for the formation of shadow is, 

 (A) there should be an opaque material. 

 (B) there should be a source of light and screen. 

 (C) the object must be placed in the path of light. 

 (D) All of the above 

 

Q19. Which Indian River doesn’t pass through any other neighboring country? 

 (A) Sutlej (B) Jhelum (C) Narmada (D) Brahmaputra 

 

Q20. The ‘Left’ in politics refers to which of the following? 

 (A) Progressive, radical groups (B) Conservative groups 

 (C) Those sitting on the left in Parliament (D) None of these 

 

Q21. Which of these images depicts clockwise movement?       

         

   
          

  (A) (B) (C) (D) 

 

 

Q22. Identify the visual which represents the correct relationship between chappals (flipflops), 

sandals, shoes and footwear. 

 

  
  (A) (B) (C) (D) 

              

Q23. What will be warmer to wear in winters - one thick sweater or layers of thin sweaters?  

(The combined thickness of the thin sweaters is the same as one thick sweater.) 

 (A)  Both will be equally warm (B)  One thick sweater will be warmer 

 (C)  Layers of thin sweaters will be warmer (D)  Can’t be said for sure 

 

Q24. 1. Gmail runs faster than Yahoo.  

 2. Hotmail runs faster than Gmail.  

 3. Yahoo runs faster than Hotmail.  

 If the first two statements are true, the third statement is __________. 

(A) True (B) False (C) Uncertain (D) Can’t Say 
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Directions (Question Nos. 25 to 47): Each question carries 1.0 marks. Please read the question 

carefully and select your response from the options provided. 
 

Q25. You and your best friend are entering the stage for a dance performance from the same point, 

you both walk straight for 20 feet and turn left; then walk another 10 feet and turn left; again 

walk 10 feet, now you turn right and move 5 feet; while your friend turns left and moves 5 feet. 

Who is closer to the point from where you entered the stage? 

 (A) You (B) Your Best friend (C) Both (D) Neither 
 

Q26. Fact 1: Rashmi said, "Jyoti and I both have dogs."  

 Fact 2: Jyoti said, "I don’t have a dog." 

 Fact 3: Rashmi always tells the truth, but Jyoti sometimes lies.  
  

 Which of the following statements must also be a fact?  

 Statement I: Jyoti has a dog. Statement II: Rashmi has a dog. Statement III: Jyoti is lying. 

(A) All the statements are facts. (B) Statement II Only 

(C) Statement I & II Only  (D) Statement I Only 
 

Q27. Pointing to a man in a sketch, a woman said, “His brother’s father is the only son of my 

grandfather.” How is the woman related to the man in the sketch? 

 (A) Mother (B) Sister (C) Aunt (D) Daughter 
 

Q28. In the given figure, how many triangles are there in total? 

(A) 5 

(B) 8 

(C) 10 

(D) 12 

 

Q29. If it takes 5 machines 5 minutes each to make 5 laddoos, how long would it take 100 machines 

to make 100 laddoos? 

 (A) 5 (B) 20 (C) 100 (D) 25 
 

Q30. Out of the 26 English alphabets, how many ‘capital’ alphabets can be made using straight lines 

only? 

 (A) 13 (B) 15 (C) 16 (D) 17 

 

Q31. Select the correct image of the given figure, as it will appear reflected in water. 

 

 
 

  (A) (B) (C) (D) 
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Directions (Question Nos. 32 to 35): Study the given images carefully to answer these questions. 
 

             

 

 

 

 

 

 

Q32. Which one of the above images best represents, “I want to live long”? 
 

Q33. Which one of the above images best represents, “I don’t want to carry extra baggage”? 
 

Q34. Which one of the above images best represents, “I am comfortable with who I am”? 
 

Q35. Which one of the above images best represents, “I want to be the best”? 

 

Directions (Question Nos. 36 to 39): Study the given images carefully to answer these questions. 

 

 

 

 

 

Q36. Which one of the above images best represents, “Sincere”? 
 

Q37. Which one of the above images best represents, “Indifferent”? 
 

Q38. Which one of the above images best represents, “Dramatic”? 
 

Q39. Which one of the above images best represents, “Selfish”? 
 

Q40. Population of a village increases by 10% per year. Find the total population after 3 years if 

present population is 1000. 

 (A) 1300 (B) 1301 (C) 1331 (D) 1030 

 

Q41. Mr ''X'' and Mr ''Y'' are good friends. Mr ''X'' borrows 2 lakhs (without any interest) from      

Mr ''Y'' and agrees to pay back 'Half' of the 'outstanding amount' every year. How many years 

Mr ''X'' takes to pay back the entire money ? 

 (A) Sixteen Years (B) Thirty Two Years  (C) Sixty Four Years (D) None of these 
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Directions (Question Nos. 42 to 43): Study the given images carefully to answer these questions. 

 

 
Q42. Which one of the above images best represents, “stability”? 
 

Q43. Which one of the above images best represents, “symmetry”? 
 

Q44. The given sheet of transparent square paper with the patterns is folded twice. What will be the 

resultant pattern? 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q45. If the earth took 365 days to spin once about its own axis (as opposed to one day), then the 

consequence of this would be that, 

 (A) there would be no seasons. 

 (B) one half of the earth would be in permanent darkness and the other in permanent daylight. 

 (C) days and nights would be of equal length at all places on earth at all times. 

 (D) the sun would be overhead everywhere on earth. 
 

Q46. Identify the missing figure. 

 

  

 

 

 

 

   (1) (2) (3) (4) 

   

 

 

 

 

  (A) (B) (C) (D) 
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Directions (Question Nos. 50 to 62): Each question carries 2.0 marks. Please read the question 

carefully and select your response from the options provided. 

 

Q50. In the given figure, if ‘S’ represents Sea, ‘B’ represents Bhopal, ‘C’ represents Chennai, then 

what does ‘X’ represent? 

 

(A) Pune 

(B) Bhubaneshwar 

(C) Hyderabad 

(D) Raipur 

 

 

 

Q51. Which of the following options has the closest resemblance 

to the given image? 

 

 

 

 

 

  
 (A) (B) (C) (D) 

Q52. If the sun were a cube instead of a sphere, in what possible shapes could you see it in the sky? 

 

 (A) (B) 

 

 

 (C) (D)   

 

 

Directions (Question Nos. 53 to 55): Read the paragraph carefully to answer these questions. 
 

Culture gives meaning to our relationship with the other, as it also forms our subjective 

identity. Culture, therefore, enters into the processes of social change in many forms and at 

various levels. It defines the quality of social change as its indicator. Anthropologists define 

culture as the set of learned behaviours, beliefs, attitudes, values, and ideals that are 

quintessential to a particular society. The defining features of culture are that it is commonly 

shared; it is learned; it is mostly integrated (we mean that the elements or traits that make up 

that culture are just a random assortment of customs but are mostly consistent with one 

another); and culture is always changing. This definition includes such products of group life 

as folklore, mores, and other group expectations. In addition, there are the material elements 

that comprise so important a part of our contemporary culture and supplement the 
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psychological elements at every point. Finally, there are the meaningful relationships between 

the various parts of culture and the symbolic interpretations placed upon them. Customs, 

material objects, and meaningful relationships thus comprise the principal aspects of culture. 

Culture includes both structure and function. Because of its symbolic character,…culture is 

easily transmitted from one person to another. In this way, culture is a continuous and growing 

whole, acquiring new elements as it is handed down from one generation to the next, and 

spreading to new groups and peoples. The history of culture is, in a real sense, the history of 

humankind. For hundreds of thousands of years, culture in some form has been continuously 

transmitted. Some elements have been lost, others have been changed, new ones have been 

added. But culture itself has gone on. 

 Ideas are the real foundations of culture. All the machines in the world would be useless 

without the knowledge of how to use them. Human beings are, furthermore, a symbol-using 

animal, who make an understanding of these symbols fundamental to an understanding of 

culture. The meanings attached to the different aspects of culture are more important than the 

physical form these aspects may take. Material objects are clearly the product of humankind’s 

cultural activity. No one would presume that the automobile for example sprang full blown 

from the brain of some supernatural power. The automobile is the product of a long line of 

human inventors, each of whom added something to the finished product. It must have started 

with the invention of the wheel.  
 

Q53. Which of the following cannot be inferred from the passage? 

 (A) The transmission of material culture over time has led to several inventions across the 

world.  

 (B) The symbolic dimension of culture leads to its continual transmission over time.  

 (C) Culture plays a key role in how society changes over time.  

 (D) Culture and society are often at odds with each other.  
 

Q54.  Which of the following would be the best substitute for the term ‘quintessential’ in the 

passage?  

 (A) Quaint  (B) Typical  (C) Unmatched  (D)  Inadequate  
 

Q55. The writer uses the phrase, ‘ideas are the real foundations of a culture’ in the passage to refer to 

the fact that 

 (A) without the intellectual stimulus, material objects are meaningless.  

 (B) ideas are based on culture. 

 (C) symbols are the result of humankind’s material activity. 

 (D) culture is something solid and stable. 
 

Q56. Pappu’s mummy leaves home for office at 8:05 am and returns home at 11:15 pm. In this 

period how many times would Pappu see the minute and hour hands of their clock line up along 

a straight line? 

 (A) 30 (B) 15 (C) 14 (D) 28 
 

Q57. Which option indicates the correct sequence in which the following words appear in a 

Dictionary? 

 1) decease   2) decelerate   3) decentralize   4) deceased  

 5) deceive   6) december   7) deception 
 

(A) 1, 2, 3, 4, 5, 6, 7   (B) 1, 3, 5, 2, 4, 6, 7 

(C) 2, 4, 6, 1, 3, 5, 7 (D) 1, 4, 5, 2, 6, 3, 7 
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Q58. The shape below is formed from three smaller pieces. These pieces are connected by a tiny 

hinge at their point of attachment. Suppose, you were able to rotate the pieces so that 

neighboring sides aligned flatly and squarely, they will come together to form which of the 

following shapes? 

 (A) Square 

 (B) Rectangle 

 (C) Triangle 

 (D) Trapezium 
 

Q59. Aman was playing with his building blocks. He made a structure, three views of which are 

given. So, how many blocks did Aman use eventually? 

 

 

 

 

 

 Top View     Front view Side view 

 (A) 28 (B) 26 (C) 27 (D) 29 
 

 

Directions (Question Nos. 60 to 62): Read the paragraph carefully to answer these questions. 
 

Colour is one of the most obvious visual feature of a gem. But in fact, it is just one of many 

properties, all of which are dependent upon light. The individual crystalline structure of a 

gemstone interacts with light in a unique way and determines the optical properties of each gem 

species. Effects produced by light passing through a gem and also produced by the reflection of 

light are discussed here. The colour of a gem depends largely on the way it absorbs light. White 

light is made up of the spectral colours of the rainbow, and when it strikes a gem some spectral 

colours are "preferentially absorbed". Those that are not absorbed, pass through or are reflected 

back, giving the gem its colour. Each gem, in fact has a unique colour "fingerprint", but this is only 

visible when viewed with a spectroscope. To the naked eye, many gems look the same colour.  

 Allochromatic or other-coloured gems are coloured by trace elements or other impurities that 

are not an essential part of their chemical composition. Corrundum, for example, is colourless 

when pure but impurities in it (like metal oxide) create the red stones we know as rubies, blue, 

green and yellow sapphires, and orange-pink padparadscha. Allochromatic gems are often 

susceptible to colour enhancement or change. 
 

Q60. What is a gemstone’s unique characteristic?  

 (A) Its transparency    (B) Its abruption spectrum  

 (C) Its reflection    (D) None  
 

Q61.  What cannot be called allochromatic?  

 (A)  Stone with metal oxide  (B)  Orange-pink padparadscha  

 (C)  Pure corundum  (D) None  
 

Q62. What subject of study/science stream is being discussed here?  

 (A) Gemology (B) Colour therapy (C) Astrology (D) Spectrology 

 





















To prepare for NID DAT exam, order SILICA Self Study Materials at below links:

Study Material Kit - including 13 books + 10 Mock Tests + Free Online Kit -

https://silica.co.in/product/nid-bdes-2022-2023-study-books-kit

Online Study Kit - including 60+ Drawing video lessons + 20+ GAT video

lessons +  1000+ GAT Question solution videos + 3000+ GAT practice questions

+ 10 Mock Tests -

https://silica.co.in/product/nid-bdes-mdes-2022-2023-online-study-kit

https://silica.co.in/product/nid-bdes-2022-2023-study-books-kit
https://silica.co.in/product/nid-bdes-mdes-2022-2023-online-study-kit

	B.Des (31)-Part-I-D-2018 (Master)
	31(4)

